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sin(a+ B)=sinacos 8 + cosasinf - ©)

EFAQDWID B & —f THIWADE

sin(e— B)=sinacos 8 — cosasinf

£oT, DDHDIID, —1

sina = sinf
cosa  cosf  tana +tanp
sina  sinf ~ l-—tanatanf
cosa cosf

IS5, F1ANDWOIID,
BIC, B1RDBZ —f THREHZDE, F2HHESND.

tan(a+ )=

[B27cEThR HE T $110]

sin 75° = sin (45° 4+ 30°) = sin 45° c0s30° + cos45° sin 30°

_ 1 V31 1 _J3+1_JB+yZ

VT T T 1

[B27cEThR HE T Hi11]

1
l+——
o _ 0 o tand5°+tan30® _ V3
tan?5" =tan(45°+30) =1 g5otansos 1_1.1
3
B+ (VB4 4423

"B WAonAe 2
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[B27cHEThR BEF 1T 1§&E26]
IEEEZRANT, ROEZKDK,
(1) cos75° (2) sinl5°

[B27cHEThR B 1T #8&29]
IEEEZRANT, ROEZKDK,
(1) tanlb® (2) tanl105°

®)

cos15°

3)

4) sinl65°

tan165°

T

2

in-—
12773

@ [B27eEThR HF 1 #RE27]

T

[B27ckEThR B 1T PlEG]

<a<n, 0<B<G EFB, sina= 3

+% THDITEERBNT, sin

12

5>

. cos-rr pEERDL,

12

cosfB =% DESE, sin(a+ P) & cos(a—p) DEEKDI,
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[327cKEThR HF 1 #RE28]

0<a< . Z<p<n ETB, sina =2, sinf— b DES ROWERDL

2 3’
(1) sin(a—p) (2) cos(a+p)

(9] aorasen e w=a0)
0<a <g, 0<p <§ EFB, tana=2, tanf =3 DEX, ROBERDE.

(1) tan(a+p) 2 a+p

[B27cEThR F 1 PIET]

2B y=31—1, y:%x+1®7&§%07éz‘2&3&0 FREL, 0<0<E £33,

[B27HETHR B2 T #52331]
RO 2 BHSDIETH 0 ZRd&, 2L, 0<0< % E92,

o) y=@x+4, y=-3/3x-2 @ 2x—y—1=0, x—3y+3=0




2% HFI F48 F2H IEEE 2 C O ¢ D &F 2 (

[B27eEThR MFE T AXNR—I145] [BO7ETIR 2 1 #62=32]
[Esaivied T ca<a T sina =2 OEE ROBERDE
A 2fEEDATR
T3% 5% FEOMETEICANT, fZ&a THIBRZDE, KD 2 EZRDAT HEEND, () sin2a (2) cos2a (3) tan2a
2FEADNHK

sin 2a =2sin @ cos a
cos2a =cos?a —sin?a =1 —2sin?2a =2cos?a —1

2tan a

tan 2a =—=—"—
1—tan?a

[(327cEThR M 1T HIES]

T

5 <a<rm T, cosa= —% DEE, sin2a DEEKRDK,

[B27chEThR B 1T R56]
ROFNEIHEL,

(1) sin3a =3sin a« —4sin’a (2) cosda =—3cosa +4cosda
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[B27cHETHR HF I ##E33] [B27chEThR HF T ##E34]
ROFENZRE R, FADOANERNT, ROBEZEKRDK,
(1) (sin@ +cosf)2=1+sin 26 (2) cos'@ —sin1d =cos26 1) cos% @) tan%

[B27CHEIR MFE T AXNX—T146]

B ¥/

2 fZBONT cos2a =1 —2sin2a =2cos?a —1 H5

Sinzazl_cgsza ’ costa = 1+C2052a
e, nsn's
2, _ Sina_ 1—cos2a 2 _ 1—cos2a
tan‘e cosla 2 1+cos2a ~ 1+cos2a

CCT, a 5% THEMZDE, RO HBEOAT HMESND,

FADAH
in2% 1—cosa
2 2 tanzﬁ_l—cosa
cos2. X _1tcosa 2 l4cosa
27 2

51 12 sin% E]

1—cos > 11—
G2 _ i_ 2 _2-2
8 2 2 4

sin% >0 THINS

ind = [TV T T
8 4 B

[B27eEThR HF 1 #RE35)
T

" <a<z T, cosa= —é DEZ, ROBERDE

(1) sin% 2 cos% 3) tan2
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[B27EINR HZE T mFAfBIRES] [B27HEINR HZE T ##E36]

0=x<2r DEE, ROFER, RENZHET, 0=x<2r DEE, ROIFEDN, FNENEHET,

(1) cos2x = —3cosx +1 (2) cos2x < —3cosx +1 (1) 2cos2x=4sinx —1 (2) sin2x=sinx
(3) cos2x <3sinx—1 (4) cos2x <cosx
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[B27REThR F T AXNX—I180] [B27CHEThR BIF T 18&37]

8 =FBEIHODEK ROWNZE rsin (0 +a) DBICEFBLR, 2L, r>0, —r<a<zr £ETFB,

A =AEHOERK (1) +/3sin @ + cosé (2) sinf —cos @
NEEEEEANT, asind +bcosd OFEOREZF L THED.
FEIZ (a, b) THDREPEL, R OP & x HOEDORAESENZIAE a T D,
FI2, 159 OPDESE 7 ETBE L s

a=rcosa, b=rsina .

&£>T asinf +bcosf =rcosasind +rsinacos 7\« :
=7(sinf cosa +cosfsina )=rsin(0 + a) O ¢ X
CCT, r=+/a’+b? TH3.
asin® +bcos DTDKIOBZERNZ =ABERDERK E1\D,

=ABMDERK
asin 0 +bcos 0 =+/a®+b?%sin (6 +a)

a

72727L sina = cosa =

b

113 sin 0 +./3 cos 0 DTH [B27TIREThR B2 1 hFABIRE4]
12+ (J3)2 =2 H 0=x<27 DES, ROFIFENZRIT,
sinx —/3cosx=1
sinf +./3cosf = 2<%sin 0 +@cos f))
. T . T . T
= 2<s1n 0cos§ + cos @ sin £l > =2sin (f) +§>
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[B27HLEINR HZE 1 #&&E38] [B27UEINR HFE 1 #&E39]
0=<x<2r DEE, ROIFENERRIT, 0=<x<2r DEE, RORENEREIT,
(1) sinx+cosx=-1 (2) +/3sinx —cosx=./3 (1) sinx +./3cosx<1 (2) +/3sinx —cosx=.2

(GOTHETH BT RIT)
0Sx<2r DEE, AEXsinx —yIcosy>1 EHT,
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[327cEThR HE 1 LFBHIES] [B27eEThR HF 1T 58]
ROBEHDRNEERIME, RIUZDEED x DiEZRDI, BEEl y=sinx +2cosx DRABER/IMBZERDL,

y=sinx+cosx (0=<x<2n)

[B27chEThR HF 1 #RE41]
B8N y=3sinx + 4cosx DRAEBER/IMBZRDL.

[327cKEThR HF 1 #%R&E40]
ROBEHDRNEERIME, RIUZDEED x DiEZRDI,
y=+/3sinx—cosx (0<x<2n)




